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. Section A

QL@ ch is more efﬁcmnt MOV with an offset or LEA instruction? Justify . .3

(b) Inthe real mode, deter:mne the starting and ending address of the memory 3
segment if the segment register holds the value

2355H.
(¢)  What does the instruction LODSW do? 3
(d)  How many bytes of memory store a far direct jump instruction? Whatis 3
stored in each of the bytes?
()  What is wrong with the instruction MOV DS, SS? 3
(§  List the flag bits tested by the conditional jump instructions. 3
(g lefcrentxate between software and hardware mter:rupts 3
(h) | _Evaluaie the address hnes and data lines reqmred tomdp TIRK x & ¢ 3
memory.
(i)  Whatisthe purpose-df'the CE pin. on a memory device? 3

()  Design a Control Wos:d for 82055 to set Port A as Output Port, Port Bas 3
Input Port in Mode 1 operation.

(k)  The instruction MOV [5000H], BX is used to access a penphcral 3
- Comment on the kind of peripheral and the width of its data lines.
()~ Which microprocessor pin and its status forces it to come out from the wait 2
state? .
Section B
Q2.(a) For a Core2 descriptor that contains a base address of 01000000H, a limit 4
" of OFFFFH, and G=0, what starting and ending locations are addressed by
this descriptor?
(b) Explain with example the instruction LSS BX, [DI]. 4
(¢) Which register or registers are used as an offset address for the string 2 }

instruction destination in the microprocessor?
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Q3.(a) Identifythe addressing mode
(i) MOV AL, [5534H]
(i) MOV AX, [BX]
@) Mov ECX, [SHBX +

of each of the following instructions:

200H]

(ii) MOV DX, [EBX + 4*ECX +1000H]

(b)  What is the difference between an intersegment and intrasegment jump?
If anear jump uses a signed 16-bit displacement, how can it Jump to any
memory location within the current code segment? .

(¢) What is the difference between register addressing mode and direct

addressing mode?
Q4.(a) Explain the instructions XLA

(b) Describe the operations of PU

T and MOVSX with example.

SHA. Let the current value of be SP=2000H.

What will be the value of SP after the PUSHA instruction is executed?,

(€)  Which flag bit is tested by the

JB instruction?

Q5.(a) Explain and sketch the WRITE operation with the help of bus timing cycle.

(b)  Howis memory interfacing di

fferent for 8086 and 8088 systems?

(¢) A 30MHz crystal is attached to the 8284 A clock generator, what is the
operating frequency of the 8086 microprocessor?

Q6.(a) Designa decoder circuit to map F6000-F7FFF on 8K x § memory.

(b)  Write thé control word of the 8254 interval timer to configure counter 2 in
mode 2 to count LSB only in BCD.

(¢)  Write the 8086 instruction/s to read 8 bit data from the port with address

3250H.

Q7(a) Define the term interrupt. Why should an interrupt vector have 4 bytes in
real mode of memory addressing? '

(b)  Explain three software commands that are used to control the operation of

the 8237 DMA controller.

(¢) How isahardware interrupt requested?
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